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Ra fw;wy; ifNaL 

 

 

fzpjk; 
 

juk; - 6 
 

 

jahupg;G : fzpj ghl Mrpupau;fs; 

         aho;g;ghzk; fy;tp tyak; 
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myF – 9          gpd;dq;fs; 

½
 vd;gJ gpd;dk;. 

,e;j ½  ,y; 1  njhFjp vz; MFk;. 

          2  gFjp  vz; MFk;. 

,t;thwhd gpd;dq;fs; 1/3    ,    
1
/5     ,    ¾   ,   

5
/7 ……….   vd;gdtFk;. 

Note:- gFjp vz;iz tpl njhFjp vz; rpwpjhf mikAk; gpd;dq;fs; Kiwikg; 

gpd;dq;fs; MFk; 

cjhuzk 1 :- gFjp vz; 8>10>12>9 Mf mikAk;  tz;zk; Kiwikg; gpd;dq;fs; 
ehd;F jUf? 

cjhuzk; 2 :- jug;gl;l Kiwikg; gpd;dq;fis cUf;fspy; epow;gLj;jpf; fhl;Lf? 

 

 

mjhtJ Kjypy; gFjp vz;izAk; gpd;du; njhFjp vz;izAk; $Wk; KiwahFk;. 

cjhuzk; 3 :- gpd;tUk; gpd;dq;fspy; thrpf;Fk; Kiwikia vOJf? 

(1) 4/5      (2) 
2/7    (3)  

5/ 8             (4)
    7

/10    

myFg; gpd;dk; 

Kiwikg;gpd;dk; xd;wpd; njhFjp vz; 1 Mf mikAk; gpd;dk; myFg; gpd;dk; 
MFk;. 

cjhuzk;:-     (1) 1/3      (2)    
1
/7               (3)       

1
/9        (4)   

1
/2 
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cjhuzk;:-  12> 5> 4> 8 Mfpatw;iw gFjp vz;fshf nfhz;l myFg; gpd;dq;fs; 
vOJf? 

 

gpd;dq;fspd;  klq;Ffs; 

cjhuzk;:- 1/3   +  1/3     = 
1+1

/3  

                                       = 
2
/3 

vdNt  
2
/3  vd;gJ   ,uz;L  1/3   fs; MFk;.  

cjhuzk;  

   (1)   3/5   vd;gJ   %d;W  1/5    fs; MFk;. 

(2)   3/7  vd;gJ %d;W 1/7 fs; MFk; 

(3)    5/8    vd;gJ  …………….. 1/8 fs; MFk; 

(4)    7/9    vd;gJ  ………………………… MFk; 

(5)    5/10    vd;gJ  ………………………… MFk; 

            

rktYg;gpd;dq;fs; 

cjhuzk;:- (1)   1
/2   =  1×3/2×3  

                                        =   
3
/6   

          (2)   1
/2  =  1×5/2×5  

                                        =   
5
/10 

          (3)   3
/5 =  3×2/5×2  

                                        =   
6
/10 

                       (4)   4
/7  =  4×3/ 7×3 

                                        =   
12

/21  

 

gpd;tUk; gpd;dq;fSf;F 2 rktYg;gpd;dq;fs; tPjk; jUf? 

(1)    
2

3
                (2)   

2
/5                                         (3)      

3
/4                  (4)  

5
/8    
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gpd;dq;fis xg;gply; 

njhFjp vz; rkdhf cs;s gpd;dq;fs; 

cjhuzk;;:- 

(1) 
1

5
    >     

1

2
     →    

1

5
      <        

1

2
 

(2) 
1

4
    >     

1

5
  →          

1

4
    <    

1

5
  

 

cjhuzk;;:-  

(1)  
1

2
 >  

1

3
         (2)  

1

5
  > 

1

6
      (3)  

5

8
 > 

5

12
          (4)  

3

5
  >  

3

7
 

 

gFjp vz;fs; rkdhf cs;s gpd;dq;fs; 

cjhuzk;;:- 

(1) 
2

5
    >     

3

5
     →    

2

5
      <        

3

5
 

(2) 
5

7
    >     

2

7
     →    

5

7
      >        

2

7
 

 

cjhuzk;;:-  

(1)   
5

8
 >   

2

8
      (2) 

5

10
  >  

7

10
   (3) 

5

12
  >  

7

12
    (4)  

11

15
  >  

4

15
 

 

gFjp vz; rkdhf cs;s gpd;dq;fid $l;Lf. 

 

(1) )  
1

3
  + 

1

6
 =  

1×2

3×2
 + 

1

6
   

         =    
2

6
  + 

1

6
 

         =  
3

6
 

(2)    
1

4
  + 

1

8
 =  

1×2

4×2
 + 

1

8
   

         =    
2

8
  + 

1

8
 

         =  
3

8
 

(3)    
5

6
  - 

5

12
 =  

5×2

6×2
 - 

5

12
   

         =    
10

12
  - 

5

12
 

         =  
5

12
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(4)    
1

2
  - 

1

4
 +   

1

8
    =  

1×4

2×4
 - 

1×2

4×2
 +  

1

8
 

                =    
4

8
  - 

2

8
  +   

1

8
 

                =  
3

8
 

cjhuzk;;:-  

(1)    
1

3
  + 

2

9
 

(2)     
1

4
  + 

5

12
 

(3)    
2

7
  + 

5

21
 

(4)    
1

2
  + 

1

4
 -   

1

8
   

(5)    
4

5
  - 

3

10
 

(6)    
5

7
  - 

6

21
 

(7)    
3

10
  - 

1

5
 

(8)    
7

15
  - 

2

5
 

(9)    
1

2
  + 

1

4
 -   

5

8
   

(10)    
10

21
  - 

3

7
 -  

2

14
   

 

gFjp vz; rkdhf cs;s gpd;dq;fid $l;Lf. 

 

(1)   
4

9
  + 

3

9
        (2) 

5

12
  + 

6

12
       (3)  

7

15
  + 

4

15
  (4)   

7

20
  + 

4

20
        

      

(1) )  
4

5
  + 

1

5
 =  

4+1

5
         (2) )  

6

7
  + 

3

7
 =  

4+1

5
   

             

             =  
5

 5
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myF- 10             njupjy;  

 

gf;fk; 148 ,y; njupjy; vDk; myfpy; cs;s ge;jpia ed;F thrpf;f  

$l;lnkhd;wpid nghJthd gz;Gfdpw;Nfw;g NtWgpupf;f KbAk; 

cjhuzk;- gwitfs;,tpyq;Ffs; jhtuq;fs; jhtu cz;zp tpyq;Fz;zp midj;Jk; 
cz;zp Nghd;W gy. 

cjhuzk; 1-1     a , b , c ,  3 , 5 , x  vDk; $l;lj;jpid Mq;fpy vOj;Jf;fs; 

,yf;fq;fs; vd ,U FOf;fshf gpup;f;fyhk;. 

 

  

 

 

Mq;fpy vOj;Jf;fs;  ,yf;fq;fs; 

njupjy; 2 

Cjhuzk; 1.2    335 > 23 > 765 > 26 > 868 > 79 > 967 > 646 > 94 

,j;njhFjpia ,U $l;lq;fshf gpupf;fyhk;. 

Kiw- 1 

 

 

 

,U ,yf;f vz;  %tpyf;f vz; 

Kiw- 2 

 

 

,ul;il vz;   xw;iw vz; 

gf;fk; 150>151>152 gf;fj;jpd; gapw;rpfis Nkw;nfhs;f 

 

 

a  b 

c x 

1 3  

5 

23 26 

79 94 

 

 

 

 

335 868  

765 967

 646 

335 765 

23   79   967 

 

967 

26 868 

646 94  
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myF– 11      fhuzpfSk; klq;FfSk;  

fhuzpfs;  

 fzpj ghlg;Gj;jfj;jpd; gFjp 1 ,y; gf;fk; 154 ,y; cs;smwpKfj;ij ed;F 

thrpf;fTk;.  

 vz;Zk; vz;fs; 1 MYk; mNj vz;zhYk; khj;jpukpd;wp NtW vz;fshYk; 

kPjpapd;wp tFf;fyhk;. ,t;thW Xu; vz;iz tFf;f $ba vz;fs; 

mt;ntz;zpd; fhuzpfs; vdg;gLk;.  

cjhuzk; - 1 

16 ,d; fhuzpfs;  

16 ,id ngUf;fkhf vOjf;$ba Kiwfs;    1 ×16 

                                      2 ×8 

                                  4× 4  

    16 ,d; fhuzpfs;  - 1 , 2 , 4 , 8 , 16 

 

cjhuzk; - 2 

12 ,d; fhuzpfs; 

12 ,id ngUf;fkhf vOjf;$ba Kiwfs; 1 × 12  

                                   2 × 6  

                               3 × 4  

      12 ,d; fhuzpfs; - 1 , 2 , 3 , 4 , 6 , 12 

 gapw;rp 11.1 ( gf;fk; 156 ) I nra;f.  
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ngUf;fy; ml;ltiziag; gad;gLj;jpfhuzpfisf; fhz;f. 

( 10× 10 ngUf;fy; ml;ltiz ) 

× 1 2 3 4 5 6 7 8 9 10 

1 1 2 3 4 5 6 7 8 9 10 

2 2 4 6 8 10 12 14 16 18 20 

3 3 6 9 12 15 18 21 24 27 30 

4 4 8 12 16 20 24 28 32 36 40 

5 5 10 15 20 25 30 35 40 45 50 

6 6 12 18 24 30 36 42 48 54 60 

7 7 14 21 28 35 42 49 56 63 70 

8 8 16 24 32 40 48 56 64 72 80 

9 9 18 27 36 45 54 63 72 81 90 

10 10 20 30 40 50 60 70 80 90 100 

 

30 ,d; fhuzpfs; 

 30 = 3 ×10 

 30 =5×6 

/ 30 ,d; fhuzpfs; - 3,5,6,10 

 

 gapw;rp 11.2 ( gf;fk; 158 ) I nra;f.  

 

 

tFj;jy; %yk; fhuzpfisf; fhzy;.  

 

 

 vz; xd;wpd; fhuzpahy; mt;ntz; kPjpapd;wp tFgLk;.  

 

cjhuzk; - 2 

28 ,d; fhuzpfs; 

    28 ÷ 1 = 28  kPjp 0 

28 ÷2 = 4kPjp 0 

28 ÷4 = 7kPjp 0 

28 ÷5 = 5kPjp3 
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 KO vz; xd;W ,d;ndhU KO vz;zhy; kPjpapd;wp tFgLkhapd; mt;ntz; 

Kjy; vz;zpd; fhuzpahFk;.  

/ 28 ,d; fhuzpfs; - 1,2,4,7 

5 MdJ28 ,d; fhuzpmy;y.  

 

 

 gapw;rp 11.3 ( gf;fk; 160 ) I nra;f.  

 

 

klq;Ffs; 

       2× 1 =2 

       2×2=4 

       2×3=6 

       2×4=8 

     ,t;thW 2 I ntt;NtW KO vz;fshy; ngUf;Fk; NghJ fpilf;Fk; NgWfs; 2        

,d; klq;Ffs; vdg;gLk;.  

 2 ,d; vy;yh klq;FfSk; 2 My; kPjpapd;wp tFgLk;.  

 3 ,d; vy;yh klq;FfSk; 3 My; kPjpapd;wp tFgLk;.  

 

 nraw;ghL 1 ( gf;fk; 161 ) I nra;f.  

 

 gapw;rp 11.4 ( gf;fk; 162 ) I nra;f.  

 

 gapw;rp 11.5 ( gf;fk; 164 ) I nra;f.  
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tFgLjd;ik 

 

 KO vz; xd;W ,d;ndhU KO vz;zhy; kPjpapd;wp tFgLkhapd; 

tFgLjd;ik vdg;gLk;.  

 

 Xu; vz;zpd; ,Wjp ,yf;fk; 2 My; tFgLkhapd; me;j vz; 2 My; tFgLk;.  

 5 My; kPjpapd;wp tFgLk; vz;zpd; xd;wplj;J ,yf;fk; 0 my;yJ 5 MFk;.  

 

 10 My; kPjpapd;wp tFgLk; vz;zpd; xd;wplj;J ,yf;fk; 0 MFk;.  

 

cjhuzk; - 1 

55 MdJ 5 My; tFgLkh? 

  55 ,d; xd;wplj;J ,yf;fk; 5 Mifahy; 5 My; tFgLk;.  

 

 gapw;rp 11.6 ( gf;fk; 166 ) I nra;f.  
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myF – 12            Neu;Nfhl;L jsTUf;fs; 

 

 

 

gf;fk; 1 ,y; Neu; Nfhl;L jsTUf;fs; vDk; myfpy; jsTUf;fs; vDk; gFjpia 
ed;F thrpf;f. 

tpdh 

1. jsTUf;fs; vd;why; vd;d? 

%ba jsTUf;fSk; jpwe;j jsTUf;fSk; 

Gf;fk; 2 ,y;  jsTUf;fs;> jpwe;j jsTUf;fs; vDk; gFjpia ed;F thrpf;f. 

tpdh 

1. %ba jsTUf;fs; vd;why; vd;d? 
2. jpwe;j jsTUf;fs; vd;why; vd;d? 

Neu;Nfhl;Lj; jsTUf;fs; 

Neu;Nfhl;Lj; Jz;lq;fis kl;Lk; nfhz;l %ba jsTUf;fs; Neu;Nfhl;Lj; jsTUf;fs; 
vdg;gLk;. 

gf;fk; 3 ,y; Neu;Nfhl;Lj; jsTUf;fs; vDk; jiyg;gpd; fPo; cs;s gFjpia ed;F 
thrpf;f. 
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gf;fk; 4 ,y; gapw;rp 12.2 ,id Kad;W ghu;f;f. 

Neu;Nfhl;Lj; jsTUf;fspd; cWg;Gf;fs; 

Neu;Nfhl;Lj; jsTUf;fspy; xt;nthU Nfhl;Lj;Jz;lk; mjd; gf;fk; vdg;gLk;.  

 

                      

,t;TUtpd; gf;fq;fspd; vz;zpf;if [e;J MFk;. 

,t;TU [e;J Neu;Nfhl;Lj;Jz;lj;jpdhy; Mf;fg;gl;l Neu;Nfhl;Lj; jsTUf;fs; MFk;. 

Neu;Nfhl;Lj; jsTUf;fspy; ,uz;L gf;fq;fs; re;epg;gjdhy; cUtpd; cs;Ns 
cUthFk; Nfhzk; jsTUf; Nfhzk; vdg;gLk;. 
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Kf;NfhzpfSk; jsTUf;fSk; 

Kd;Wgf;fq;fis nfhz;l Neu;Nfhl;Lj;jsTU Kf;Nfhzp. 

 

 

ehd;F gf;fq;fisf; nfhz;l Neu;Nfhl;Lj;jsTUtk; ehw; gf;fy; vdg;gLk;. 

 

  

vjpu;gf;fr;Nrhbfs; 

gf;fk; 5 ,y; Kf;NfhzpfSk; ehw;gf;fy;fSk; vDk; jiyg;gpd; fPo; cs;s gFjpia 
ed;F thrpf;f. 

tpdh 

1. Vjpu;gf;fr;Nrhb vd;why; vd;d? 

ehw;gf;fy; tiffSk; mtw;wpd; gz;GfSk; 

gf;fk; 6>7 ,y; jug;gl;l nraw;ghL 1 ,id Nkw;nfhs;SNthk;. 
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ruptfk; vDk; jiyg;gpd; cUtpid mtjhdpf;f  

nraw;ghL  

1. vjpu;gf;fr;Nrhbfspd; ,ilj;J}uq;fis rJu fl;lq;fis vz;Ztjd; %yk; 
fhz;f? 
Kbthf xUNrhb vjpu;gf;fk; kl;Lk; khwhj ,ilj;J}uj;jpy; cs;sJ. 

ckf;F rpy ruptf mikg;Gf;fs; jug;gLfpd;wd. 

 

 

,izfuk; vDk; jiyg;gpd; fPo; cUtpid mtjhdpf;f. 

nraw;ghL-1 

1. vjpu;gf;fr;Nrhbfspd; ePsj;jpid Neu;tpspk;G my;yJ rJuf;fl;lq;fs; 
vz;Ztjd; %yk; my;yJ gpupfUtpiag; gad;gLj;jp fhz;f. 
Kbthf ehk; vjpu;gf;fr;Nrhbfs; ePsj;jpy; rkdhdit vDk; Kbtpidg; 
ngwyhk;. 

nraw;ghL-2 

2. vjpu;gf;fr;Nrhbfspd; ,ilg;gl;lJ}uj;jpid Neu;tpspk;G my;yJ rJuf;fl;lq;fs; 
vz;Ztjd; %yk; my;yJ gpupfUtpiag; gad;gLj;jp fhz;f. 
Kbthf ehk; vjpu;gf;fr;Nrhbfs; khwhj ,ilJ}uj;ij nfhz;lit vDk; 
Kbtpidg; ngwyhk;. 

rha;rJuk; vDk; jiyg;gpd; cUtpid ed;F mtjhdpf;f 

nraw;ghL-1 

1. NkNy $wg;gl;l nraw;ghLfs; NghyNt vjpu;gf;fr;Nrhbfspw;F ,ilg;gl;l 
J}uj;jpid fhz;f. 
Kbthf ehk; xt;nthU vjpu;gf;fr;NrhbfSk; khwhj ,ilJ}uj;jpy; 
mike;Js;sd vDk; Kbtpidg; ngwyhk;. 

nraw;ghL-2 

2. Neu;tpspk;G my;yJ rJuf;fl;lq;fs; vz;Ztjd; %yk; my;yJ gpupfUtpiag; 
gad;gLj;jp ehd;F gf;f ePsj;jpid msf;f. 
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Kbthf ehk; vy;yh gf;fq;fSk; ePsj;jpy; rkdhdit vDk; Kbtpidg; 
ngwyhk;. 
 

nrt;tfk; vDk; jiyg;gpd; cUtpid ed;F mtjhdpf;f. 

nraw;ghL-1 

1. vjpu;gf;fr;Nrhbfspd; ePsj;jpid rJu fl;lq;fis vz;Ztjd; %yk; fhz;f? 
Kbthf ehk; vjpu;gf;fr;Nrhbfs; ePsj;jpy; rkdhdit vDk; Kbtpidg; 
ngwyhk;. 

nraw;ghL-2 

2. vjpu;gf;fr;Nrhbfspd; ,ilg;gl;lJ}uj;jpid rJuf;fl;lq;fs; vz;Ztjd; %yk; 
fhz;f. 
Kbthf ehk; xt;nthU vjpu;gf;fr;NrhbfSk; khwhj ,ilJ}uj;jpy; 
mike;Js;sd vDk; Kbtpidg; ngwyhk;. 
 

ehd;F Nfhzq;fSk; nrq;Nfhzq;fs;. (fpilf;NfhL> epiyf;Fj;Jf;NfhL 
vd;gjhy;) 

rJuk; vDk; jiyg;gpd; cUtpid ed;F mtjhdpf;f. 

nraw;ghL-1 

1. ehd;F gf;f ePsj;jpid rJu fl;lq;fis vz;Ztjd; %yk; fhz;f? 
Kbthf ehk; ehd;F gf;fq;fSk; ePsj;jpy; rkdhdit vDk; Kbtpidg; 
ngwyhk;. 

nraw;ghL-2 

2. vjpu;gf;fr;Nrhbfspd; ,ilg;gl;lJ}uj;jpid rJuf;fl;lq;fs; vz;Ztjd; %yk; 
fhz;f. 
Kbthf ehk; xt;nthU vjpu;gf;fr;NrhbfSk; khwhj ,ilJ}uj;jpy; 
mike;Js;sd vDk; Kbtpidg; ngwyhk;. 
 
ehd;F Nfhzq;fSk; nrq;Nfhzq;fs;. (fpilf;NfhL> epiyf;Fj;Jf;NfhL 
vd;gjhy;) 
 

gf;fk; 8>9 ,s; 12.3 ,id Kad;W ghu;f;f. 

gf;fk; 9>10 ,y; nraw;ghL 2 ,id Kad;W ghu;f;f. 
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myF-13                jrkq;fs;                         

jrk vz;fis thrpf;Fk; Kiw 

0.2 → G+r;rpak; jrk; ,uz;L 

3.5 →%d;W jrk; Ie;J 

0.04 →G+r;rpak; jrk; G+r;rpak; ehd;F 

2..35 →,uz;L jrk; %d;W Ie;J 

 
1

10
 vd;gJ 1 I 10 rk $Wfshf gpupj;J xU gFjp 

 
1

100
 vd;gJ 1 I 100 rk $Wfshf gpupj;J xU gFjp 

gpd;dtbtk; jrktbtk; 
1

10
 

0.1 

5

10
 

0..5 

1

100
 

0.01 

5

100
 

0.05 

24

100
 

0.24 

2
1

10
 2.1 

gapw;rp 

gpdtUtw;iw nrhw;fspy; vOJf. 

1. 0.7 
2. 0.23 
3. 3.2 
4. 4.07 
5. 0.09 

 
2.gpd;dq;fis jrkq;fshf khw;Wf. 

1. 
7

10
 

2. 
2

100
 

3. 4
3

10
 

4. 
29

100
 

5. 3
1

10
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,lg;ngWkhdk;;; 
 

 
   

jrk vz;fis vz;rl;lj;jpy; Fwpj;jy; 

           

 

 

gapw;rp. 

gpd;tUk; vz;fis vz;rl;lj;jpy; Fwpf;f. 

1)2.3 

2)8.37 

3)0.43 

4)2.07 

5)3.15 

 

vz;   ,yf;fk;   ,lk;   ,lg;ngWkhdk;  
1..36  3  1;k; jrkjhdk;  0.3  
22.65  5  2k; jrkjhdk;  0.05  
7.34      7  
2.59    2k; jrkjhdk;    
42.03  4      
9.05    2k; jrkjhdk;    
jrkq;fis xg;gpLjy; 
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,U jrk vz;fis xg;gpLk; NghJ Kjypy; 1k; jrkjhd{
1

10
} ,yf;fj;ijAk; gpd; 

,uz;lhk; jrkjhd {
1

100
},yf;fj;ijAk; xg;gpLjy; Ntz;Lk;. 

cjhuzk;-1)  0.6 > 0.3  [ xg;gpLk; NghJ 

                      0.6 > 0.3 (1k; jrkjhd vz;zpy; 6 ngupJ MFk;) 

  2)  0.23 > 0.5  [ xg;gpLk; NghJ  

                     0.23 > 0.5 (1k; jrkjhd vz;zpy; 6 ngupJ MFk;) 

3)0.3 > 0.32[ xg;gpLk; NghJ 

,tw;wpy; 1k; jrkjhd vz;fs; rkdhf miktjhy; 2k; jrkjhd vz;iz 
fUj Ntz;Lk;. 

                  0.3 <  0.32 (2k; jrkjhd vz;zpy; 2 ngupJ MFk;) 

gapw;rp  

1) > , < , =  milahsq;fis gad;gLj;jp xg;gpLf. 

1. 2.01……………2.10 

2. 5.701…………. 5.07 

3. 20.43………… 20.34 

4. 6.90………….. 6.9 

5. 3.0…………… 0.3  

6. 8.05…………. 8.50 

jrkq;fisf; $l;ly;>fopj;jy; 

 jrk vz;fis $l;Lk; fopf;Fk; NghJ jrkg;Gs;sp xNu Neu;Nfhl;by; 
,Uf;FkhW ,yf;fq;fis vOJjy; Ntz;Lk;. 

c-k;-0.32+0.4=             1.6+0.04= 

                         0.32     1.6 

     +        0.40         + 0.04 

                     0.72     1.64 

,r;nraw;ghl;Lld; nfhz;Lnry;Yjy; rhjhuz $l;ly; tpjpAld; mikAk;. 

              24.74+2.58= 

                                                   24.74 

                                                +  2.58 

                                                  27.32 

 

gapw;rp 13.4(gf;f ,yf;fk; 24)[ nra;aTk; 

              3.65-1.98 = 

                       3.65 

                                          - 1.98 

                    1.67 
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jrk vz;fisf; fopf;Fk; NghJ KOntz;fis fopf;Fk; Kiwia gpd;gw;wp 
jrk Gs;spia cupa ,lj;jpy; ,Ljy;. 
 

            5..3 - 2.14 = 

 
                      5..30 
                    -  2.14 
                       3.16  
5.3 vd;gJ 5.30 [ Fwpf;Fk;. 
 
gapw;rp 13.5 (gf;f ,yf;fk; 26)[ nra;aTk;. 
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myF– 14      vz;tiffSk; vz;Nfhyq;fSk; 

,ul;il vz;, xw;iw vz; 

 ,uz;lbdhy; kPjpapd;wptFgLk; vz;fs; ,ul;il vz;fs; MFk;.  

cjhuzk; - 8 ÷ 2 = 4 kPjp 0 

MfNt 8 MdJ ,ul;ilvz; MFk;.  

 

 vz;nzhd;iw ,uz;lbdhy; tFf;Fk; NghJ kPjp 1 fpilf;Fnkdpd; mt;ntz; 

xw;iw vz; MFk;.  

cjhuzk; - 15÷ 2 =7kPjp1 

MfNt15MdJ xw;iw vz; MFk;. 

 

 ,ul;il vz; +,ul;il vz; =,ul;il vz; 

cjhuzk; - 4 + 6  

= 10     ,ul;ilvz; 

 ,ul;il vz; +xw;iw vz;; =  xw;iw vz; 

cjhuzk; - 8+3 

= 11    xw;iw vz;  

 xw;iwvz;+ ,ul;ilvz; =  xw;iwvz; 

cjhuzk; - 7+2 

=9    xw;iwvz; 

 ,ul;ilvz; - ,ul;ilvz; =  ,ul;ilvz; 

cjhuzk; -   8- 6  

=2     ,ul;ilvz; 

 ,ul;ilvz; - xw;iwvz; =  xw;iwvz; 

cjhuzk; -   6-3 

=3    xw;iwvz; 

 xw;iwvz; - ,ul;ilvz; =  xw;iwvz; 

cjhuzk; -   7-4 

=3     xw;iwvz; 

 xw;iwvz; - xw;iwvz;=  xw;iwvz; 

cjhuzk; -   7-3 
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=4    ,ul;ilvz; 

( Nkw;$wg;gl;litGj;jfj;jpy; gFjp 11 gf;fk; 30 ,y; Fwpg;gpy; $wg;gl;lit ) 

 

 gapw;rp 14.1 gf;fk; 31 ,y; cs;stw;iw Kaw;rpj;Jg; ghu;f;fTk;.  

 

 vz; xd;Wxw;iwvz;zh, ,ul;ilvz;zh vd ,dq;fhz xd;wplj;J ,yf;fj;ij 

ghu;j;Jk; $wKbAk;. ( mjhtJ ,Wjp ,yf;fk; ) 

            2 7 3 
E}wpdplk;             xd;wpdplk; 

        gj;jpdplk; 

 

juk; 6 ,y; myF 2 ,y; fw;w ,lg;nghWkhdk; vDk; tpsf;fj;jpypUe;J 

 vz; xd;wpd; xd;wplj;J ,yf;fk; 0 ,2 , 4 , 6 , 8 Mf ,Ug;gpd; 

mt;ntz; ,ul;ilvz; Mfk;.  

 1,3,5,7,9 Mf ,Ug;gpd; mt;ntz; xw;iwvz; Mfk;.  

 

cjhuzk; -    1 2 9 xd;wplj;J ,yf;fk; 

                   129 - xw;iwvz; 

                  9 7 4 xd;wplj;J ,yf;fk; 

                   974 - ,ul;ilvz; 

 

 ,t;thNwgf;fk; 33 ,y; cs;s gapw;rp 14.2 ,id nra;J ghu;f;fTk;.  

 

Kjd;ikvz;fSk; ,Nru;j;jpvz;fSk;  

 

2 ,id ngUf;fkhf vOjf;$ba Kiwfs;    1 × 2  

    2 ,d; fhuzpfs; - 1 , 2 

 

3 ,id ngUf;fkhf vOjf;$ba Kiwfs;    1 × 3 

    3 ,d; fhuzpfs; - 1 ,3 

4 ,id ngUf;fkhf vOjf;$ba Kiwfs;    1 × 4 

                                     2×2  

        4 ,d; fhuzpfs; - 1 , 2, 4 
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12 ,id ngUf;fkhf vOjf;$ba Kiwfs;    1 × 12 

                                     2 × 6 

                                 3 × 4 

       12 ,d; fhuzpfs; - 1 , 2, 3 , 4 , 6 , 12 

 

 ,uz;Lfhuzpfis kl;Lk; nfhz;l xd;iwtplg; ngupa KOvz;fs; Kjd;ik 

vz;fshFk;.  

2 , 3 , 5 , 7 , 11 , 13 , 17 , 19 , 23 , 29 ,……. 

 

 ,uz;Lf;F Nkw;gl;l fhuzpfis nfhz;l vz;fs; Nru;j;jpvz;fshFk;.  

4,6,8,9,10,12,14,15,16,18, 20 ……. 

 

 gf;fk; 35 ,y; gapw;rp 14.3 ,id nra;aTk;.  

 

rJuvz;fs;  

   1tJ rJuvz; = 1 × 1 = 1 

 

 2tJ rJuvz; =2×2=4 

 

   3tJ rJuvz; =3×3=9 

cjhuzk; -  

      8tJ rJuvz; =8×8=64 

      12tJ rJuvz; =12×12=144 

 gf;fk; 37 gapw;rp 14.4 ,id nra;J ghu;f;fTk;.  
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Kf;Nfhzvz;fs; 

 

1tJ     2tJ 3 tJ 4tJ 

1        1 + 2 1 +2+3 1 +2 +3 +4 

                      = 3           = 6                     =10 

7 tJ Kf;Nfhzvz; = 1 + 2 + 3 + 4 + 5 + 6 + 7 

                                            =28 

10 tJ Kf;Nfhzvz; = 1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 10 

                                            = 55 

 gf;fk; 39 , 40 ,y; gapw;rp 14.5 ,y; cs;s gapw;rpia nra;aTk;.  
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myF – 15           ePsk; 

ntt;NtW re;ju;g;gq;fspy; J}uj;ij ePsk;> mfyk;> cauk;> Mok;> jbg;G vd 
,dq;fhz;fpd;Nwhk;. 

ePsj;ij msf;Fk; cgfuzq;fs; 

mbkl;lk;> kPw;wu;Nfhy;> msTehlh> kzpr;rpy;Y 

ePsj;ij msf;Fk; myFfs; 

kpy;ypkPw;wu; - mm 

nrd;upkPw;wu; - cm 

kPw;wu;  - m 

fpNyhkPw;wu; - km 

ePsj;ij msj;jy; 

ghlg;Gj;jfj;jpy; 45 Mk; gf;fj;jpid mtjhdpj;J gpd;tUk; Neu;NfhLfspd; ePsq;fis 
mse;J vOJf 

1. ……………………………….. 

2. ……………………………….. 

3. ……………………………….. 

1) kpfr;rpwp;a ePsq;fis msg;gjw;F mm myF gad;gLj;jg;gLk;. 

cjhuzk; : CD jbg;G> ehzaf;Fw;wpapd; jbg;G 

2) kpfr;ngupa ePsq;fis msg;gjw;F km myF gad;gLj;jg;gLk;. 

cjhuzk; : ,U efuq;fSf;fpilapyhd J}uk; 

ePsq;fis msf;Fk; myFfSf;fpilapyhd njhlu;G 

cm, mm ,ilapyhd njhlu;G 

ckJ mbkl;lj;jpid mtjhdpf;Ff. mjpy; 15cm  ,Uf;Fk;. xt;nthU cm 

f;Fkpilapy; 10 rpwpa gpupTfshf gpupf;fg;gl;L ,Uf;Fk;. mg;gpupTfs; mm MFk;. 

1cm=10mm 

cm ,y; jug;gl;l ePsj;jij mm Mf fhl;Ltjw;F 10 ,dhy; ngUf;f Ntz;Lk;. 

mm ,y; jug;gl;l ePsj;jij cm Mf fhl;Ltjw;F 10 ,dhy; tFf;f Ntz;Lk;. 
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cjhuzk; 

1. 5cm   = 5×10  = 50 mm 

2. 18cm = 18×10 mm 

         = 180mm 

3. 0.2cm = 0.2×10 mm 

          =  2mm 

4. 70mm = 70/10 cm 

           = 7cm 

5. 27mm = 20mm+7mm 

           = 20/10cm+7/10cm 

           = 2cm+0.7cm 

           = 2.7cm 

6. 38mm = 30mm+8mm 

           = 30/10cm+8/10cm 

           = 3cm+0.8cm 

           = 3.8cm 

nrd;upkPw;wu;> kpy;ypkPw;wupy; jUf  

1. 45mm = 40mm+5mm 

           = 4cm+5mm 

           = 4cm 5mm 

2. 185mm = 180mm+5mm 

             = 18cm+5mm 

             = 18cm 5mm 

gapw;rp 15.3 ,y; (gf;f vz; 51) cs;stw;iw nra;f. 

 

m, cm ,ilapyhd njhlu;G 

msTehlh> kPw;wu;f;Nfhy; vd;gtw;wpdhy; mtjhdpf;Fk; NghJ 100cm ePskhdJ 1m 

vdf; Fwpf;fg;gl;Ls;sJ. 

1m=100cm 

m ,dhy; jug;gl;l ePsj;ij cm Mf fhl;Ltjw;F ,dhy; tFf;f Ntz;Lk;. 

cjhuzk;  

1. 8m = 8×100 cm 

      = 800cm 

2. 7.85m = 7m+0.85m 

           = 700cm+85cm 

           = 785cm 
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3. 2.3m = 2m+0.3m 

        = 200cm+30cm 

        = 230cm 

4. 800cm = 800/100cm 

            = 8m 

5. 154cm = 154/100cm 

            = 1.54m 

6. 750cm = 750/100 m 

            = 7.5m 

nrd;upkPw;wu;> kPw;wupy; jUf 

1. 623cm = 600cm+23cm 

            = 6m+23cm 

            = 6m 23cm 

2. 479cm = 400cm+79cm 

            = 4m+79cm 

            = 4m 79cm 

kPw;wupy; jUf 

1. 6m 74cm = 6m+74cm 

                = 6m+(74/100)m 

                = 6m+0.74m 

                = 6.74m 

2. 2m 37cm = 2m+37cm 

                = 2m+(37/100)m 

                = 2m+0.37m 

                = 2.37m 

 

nrd;upkPw;wupy; jUf 

1. 16m 45cm = 16m+45cm 

     = 1600cm+45cm 

     = 1645cm 

2. 2m 73cm = 2m+73cm 

     = 200cm+73cm 

     = 273cm 

gapw;rp 15.4 ,y; (gf;f vz; 54) cs;stw;iw nra;f. 

m, km ,ilapyhd njhlu;G 

km ,y; jug;gl;l ePsj;jij m Mf fhl;Ltjw;F 1000 ,dhy; ngUf;f Ntz;Lk;. 

m ,y; jug;gl;l ePsj;jij km Mf fhl;Ltjw;F 1000 ,dhy; tFf;f Ntz;Lk;. 
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cjhuzk; 

1. 5km   = 5*1000 m  

          = 5000 m 

2. 7km   = 7*1000 m  

          = 7000 m 

3. 23km   = 23*1000 m  

            = 23000 m 

4. 8000m = 8000/1000 km 

            = 8km 

5. 4000m = 4000/1000 km 

            = 4km 

fpNyhkPw;wu;> kPw;wupy; vOJNthk; 

1. 3928m = 3000m+928m 

            = 3km 928m 

2. 8250m = 8000m+250m 

            = 8km 250m 

kPw;wupy; vOJNthk; 

1. 8km 950m = 8km+950m 

                  = 8000m+950m 

                  = 8950m 

2. 5km 842m = 5km+842m 

                  = 5000m+842m 

                  = 5842m 

gapw;rp 15.5 ,y; (gf;f vz; 56) cs;stw;iw nra;f. 

Rw;wsT 

%ba jsTUit Rw;wpAs;s ePsq;fspd; $l;Lj;njhif Rw;wsT MFk;. 

1.  

 

 

 

 

 

 

12m 

7m 8m Rw;wsT = 7m+8m+12m 

   = 27m 
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2.  

 

 

 

 

 

3.  

 

 

 

 

 

 

 

 

4.  

 

 

 

 

 

 

 

gapw;rp 15.7 ,y; (gf;f vz; 62>63) cs;stw;iw nra;f. 

 

42cm 

27cm 

29cm 

Rw;wsT = 27cm+29cm+42cm+31cm 

   = 119 cm 

 

31cm 

 

8cm 5cm 

7cm 

12cm 

10cm 

Rw;wsT = 8cm+7cm+5cm+12cm 

   = 32 cm 

 

 

 
9cm 4mm 

5cm 4cm 8mm 

13cm 2mm 

Rw;wsT = 13cm 2mm +5cm+9cm 4mm +4cm 8mm           

Cm mm 

13  2 

  5  0 

  9  4 

  4  8 

 32  4 

Rw;wsT = 32cm 4mm 
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myF – 16       jput mstPLfs; 

fzpjghlGj;jfj;jpd; gFjp 11 ,y; gf;fk; 66 ,y; “mwpKfk;” vd;w gFjpia ed;F 

thrpf;f. 

mg;gFjpapy; ,Ue;J ehk; Gupe;J nfhs;tJ jput mstPLfis yPw;wu;, kpy;ypyPw;;wu; 
vd;gtw;wpdhy; Fwpg;gpl KbAk;. 

kpy;yp yPw;wupid ‘ml’ vDk; FwpaPl;L Fwpj;J fhl;l KbAk;. 

yPw;wupid ‘l’  ; FwpaPl;L Fwpj;J fhl;l KbAk;. 

cjhuzk; 1 : 50 kpy;yp yPw;wu; =  50 ml 

cjhuzk; 2 : 5 yPw;wu; = 5 l 

nghJthf rpwpa jput mstPLfis ml vd;w myfpdhy; Fwpg;gpLtJ 

nghUj;jkhdjhFk;. 

nghJthf ngupa jput mstPLfis l(yPw;wu;)  vd;w myfpdhy; Fwpg;gpLtJ 

nghUj;jkhdjhFk;. 

gf;fk; 61 ,y; cs;s nraw;ghL 1 ,id ed;F thrpf;f. 

tPl;by; gad;gLj;Jk; ePupd; mstpw;F nghUj;jkhd myF “l” (yPw;wu;) MFk;. 

thfdnkhd;wpw;F epug;gg;gLk; vupnghUspd; msT ngupa mstPL vd;gjdhy; 

nghUj;jkhd myF l(yPw;wu;) MFk;. 

Nehahsp xUtu; xU jlitapy; gUFk; kUe;jpd; msT kpfr;rpwpa mstPL vd;gjdhy; 

nghUj;jkhd myF ml MFk;. 

yPw;wu;> kpy;yp yPw;wu; myFfspw;fpilapyhd njhlu;G 1l = 1000 ml 

yPw;wupy; jug;gl;l mstPl;bid kpy;yp yPw;wpw;F khw;Wtjw;F 1000 ,dhy; ngUf;f 
Ntz;Lk;. 

1l 750 ml = 1750 ml 

1l 800 ml =  1800 ml 

  3550 ml 

3550 ml = 3 L 550 ml 

Kiw 2 

Nkw;gb mstPLfis L,ml epuy;fspy; vOJf. mjhtJ 

l(yPw;wu;) ml 

1 750 

1 800 
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Kjypy; ml idf; $l;LNthk;. 

750 ml + 800 ml = 1550ml 

1550 ml = 1 l + 500 ml  

(cjhuzk; 5>6 ,idg; ghu;f;f) 

550 ml epuypy; vOJ. 1l ,id yPw;wu; epuypw;F nfhz;L nry;f. 

1l + 1l + 1l = 3l 

vdNt ghypd; nkhj;j msT 3l 550 ml. 

gapw;rp  

fpNo jug;gl;Ls;s msTfis kpy;ypyPw;wupy; jUf  

1. 5L 3ml  

2. 15l 

3. 3L 15ml 

4. 12L 25ml 

5. 7l 

Nkyjpf gapw;rpf;fhf gf;fk; 70 ,y; cs;s gapw;rp 16.1 ,id Nkw;nfhs;f. 

kpy;ypyPw;wupy; jug;gl;l jput msTfis yPw;wupdhy; fhl;Ltjw;fhf 1000 ,dhy; 
tFf;f Ntz;Lk;. 

cjhuzk; 4 

10000 ml = 1000/1000 

10000ml = 10L 

6000ml = 6000/1000 

6000ml = 6L 

 Fwpg;G  

jtiz 1 ,y gj;jpd; tYf;fspd;ngUf;fy;> tFj;jy; vDk; mwptpidg; gad;gLj;Jf  

1. 5×10=50 

2. 10×100=1000 

3. 200/10=20 

4. 3000/100=30 

cjhuzk; 5 

3500 ml ,id yPw;wu;> kpy;ypyPw;wupy; jUf. 
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3500 ml = 3000ml+500ml 

cjhuzk; 4 ,y; jug;gl;Ls;sjd;gb 

3000ml= 3l MFk;. 

3500ml=3l+500ml 

3500ml = 3l 500ml 

cjhuzk; 5 

11006 ml ,id yPw;wu;> kpy;ypyPw;wupy; jUf. 

11006 ml = 11000ml+6ml 

cjhuzk; 4 ,y; jug;gl;Ls;sjd;gb 

11000ml= 11l MFk;. 

11006ml=11l+6ml 

11006ml = 11l 6ml 

gapw;rp 

fPNo jug;gl;Ls;;s jput mstPLfis yPw;wu;> kpy;ypyPw;wupy; jUf. 

1. 7300 ml 

2. 10005 ml 

3. 11060 ml 

4. 20010 ml 

5. 6796 ml 

Nkyjpf gapw;rpf;fhf gf;fk; 71 ,y; cs;s gapw;rp 16.2 ,id Nmw;nfhs;f. 

jput mstPLfis $l;ly; 

gf;fk; 72 ,y; cs;s jput mstPLfis $l;ly; vDk; jiyg;gpd; fPo; cs;s 
gFjpia ed;F thrpf;f. 

mjpy; ,Ue;J ehk; myF xNu tifahd jput mstPLfis $l;l KbAk;. 

cjhuzk; 7 

gz;izahsd; xUtd; fhiy 1 750 ghYk; khiy 1 800 ghYk; tpw;gid nra;fpwhd;. 

Mtd; ehnshd;wpy; tpw;gid nra;ag;gl;l ghypd; nkhj;j mstpidf; fhz;f? 

,t;tpdhtpy; ghypd; msT l ,ml vDk; ,uz;L myFfspy; jug;gl;Ls;sJ. 

Kiw 1 ,U jput mstPLfisAk;  ,w;F khw;wpagpd; $l;lTk;. 
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1L 750ml =  1750ml 

1 l 800ml =  1800ml 

  3550ml 

3550ml = 3l  550ml 

Kiw 2  

Nkw;gb mstPLfis  l,ml epuy;fspy; vOJf. mjhtJ 

l(yPw;wu;) ml 

1 750 

1 800 

  

 

 Kjypy; ml ,idf; $l;lTk;. 

750 ml + 800ml = 1500ml 

1550ml= 1l +550ml 

(cjhuzk; 5>6 ,idg; ghu;f;f) 

550 epuypy; vOJ 1l ,id yPw;wu; epuYf;F nfhz;L nry;f 

1l+1l+1L =3l 

vdNt ghypd; nkhj;j msT 3l 550ml 

cjhuzk; 8 

l  ml 

5  950 

4  670 

3  575 

14l  195ml 

kpy;ypyPw;wupidf; $l;Lf 

950ml + 670ml + 575ml = 2195ml 

2195ml = 2l +195ml 
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ml epuypy; 195 ,id vOJf. 2l ,id yPw;wu; epuYf;F nfhz;L l ,id $l;Lf. 

5l+4l+3l+2l=14l 

Tpil 14l  195ml 

Nkyjpf gapw;rpfhf gf;fk; 73 ,y; cs;s gapw;rp 16.3 ,id Nkw;nfhs;f. 

jput mstPLfsp;d; fopj;jy; 

gf;fk; 74 ,y; jput mstPLfsp;d; fopj;jy; vDk; jiyg;gpd; fPo; cs;s gFjpia 
thrpf;f 

mjpy; ,Ue;J ehk; myF xNu tifahd jput mstPLfis fopf;f KbAk; vdg; 
Gupe;J nfhs;syhk;. 

cjhuzk; 9 

l  ml 

12  100 

  3  200 

  8  900 

Kiw 1 

Kjypy; ml epuypid fopg;Nghk;. 100 ,id tpl 200 ngupaJ. 

vdNt l epuypy; 12l ,Ue;J 1l [ ml epuypw;F nfhz;L nry;Nthk;. vdNt l epuypy; 11l 

vQRk;. kpy;ypyPw;wu; epuypy; 

1 l 100ml = 1100ml 

1100ml-200ml = 900ml 

l  epuypy;11l-3l=8l 

vdNt jPu;T 8 l 900ml 

Kiw 2 

,t; tpdhtpw;F ,U fput mstPLfis ml ,w;F khw;WNthk;. 

12 l  100ml = 12100ml 

3l  200ml = 3200ml 

,U mstPLfSk; xNu myF vd;gjhy; rhjhuz vz; fopj;jy; Nkw;nfhs;syhk;. 
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12100ml 

   3200ml 

   8900ml 

8900ml = 8l  900ml 

gf;fk; 75 ,d; gapw;rp 16.4 ,id Nkw;nfhs;f. 

jput mstPLfspd; mz;zsthf;fy; 

gf;fk; 75 ,y; cs;s jput mstPLfspd; mz;zsthf;fy; vDk; jiyg;gpd; fPo; 
cs;s gFjpia ed;F thrpf;f. 

 

cjhuzk; 10 

gf;fk; 76 gapw;rp 163.5 ,d; 1 Mk; tpdhtpid jPu;g;Nghk;. 

klq;Ffs; vDk; mwptpidg; gad;gLj;jp jPu;g;Nghk;.  

xU rpl;b tpsf;fpw;F 30 ml Njq;fha; vz;nza; Njit. 50 rpl;b tpsf;fpw;F 30ml*50 

msT  Njq;fha; vz;nza; Njit. 

30ml×50 = 1500ml 

1500ml = 1 l 500ml 

 

gf;fk; 76> 77> 78 ,y; cs;s gapw;rpfis Nkw;nfhs;f. 
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myF 17 jpz;kq;fs;(solids) 

 

fdTU(cuboid)                                      tiyAU 

 

 

 

 

 

 

  

fdTU xd;wpd; gz;Gfs; 

 Kfq;fs; 6 

 cr;rpfs; 8 

 tpspk;Gfs; 12 

gapw;rp 1 

1. #oypy; fhzg;gLk; fdTUtbthd 5 nghUs;fis vOJf? 
 
 

2.  

 

 

 

 

 

i.   jug;gl;l cU vt;thW miof;fg;gLk; ? 

ii. jug;gl;l cUtpd; Kfq;fs; vj;jid? 

iii. jug;gl;l cUtpd; vj;jid Nrhb Kfq;fs; rkdhf fhzg;gLfpd;wd? 

iv. jug;gl;l cUtpd; tpspk;Gfs; vj;jid? 

v. jug;gl;l cUtpd; cr;rpfs;  vj;jid? 

vi. jug;gl;l cUtpy;; vj;jid Neu; tpspk;Gfs; xU cr;rpapy; re;jpf;fpd;wd ? 

                               

3. xU fdTUit tiue;J mjd; ePsk;, mfyk;, cauk; Nghd;wtw;iw mse;J vOJf? 

 

 

 

Kfk; 

tppspk;G 

cr;rp 

` 
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   rJuKfp(cube)                                      tiyAU 

 

 

                                                                                    

                                                           

 

 

 

 

 

rJuKfp xd;wpd; gz;Gfs; 

 Kfq;fs; 6 

 cr;rpfs; 8 

 tpspk;Gfs; 12 

 xU Kfj;jpd; tbtk;:- rJuk; 
 

gapw;rp 2 
 

1.  

 

 

  

I. jug;gl;l cU vt;thW miof;fg;gLk; ? 

II. jug;gl;l cUtpd; Kfq;fs; vj;jid? 

III. jug;gl;l cUtpd; xU Kfj;jpd; tbtk; ahJ? 

IV. jug;gl;l cUtpd; tpspk;Gfs; vj;jid? 

V. jug;gl;l cUtpd; cr;rpfs;  vj;jid? 

VI. jug;gl;l cUtpy;; vj;jid Neu; tpspk;Gfs; xU cr;rpapy; re;jpf;fpd;wd ? 

VII. jug;gl;l cUtp;d; vy;yh ePsq;fSk; rkkhditah? fhuzk; $Wf 

2. xU gf;f ePsk; 5cm MfTs;s rJuKfpapd; tiyAUit tiuf? 

 
3. xNu msthd ,U xOq;fhd rJuKfpfspd; ,U Kfq;fis xl;b $l;Lj; jpz;kk; 

xd;W mikf;fg;gl;lJ. mj;jpz;kj;jpd; tbtk; ahJ? 
   
                        
 
 
 
 

Kfk; 

cr;rp 

Tpspk;G 
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       xOq;fhd ehd;Kfp                               tiyAU   

 

 

 

 

 

 

xOq;fhd ehd;Kfp xd;wpd; gz;Gfs; 

 Kfq;fs; 4 

 cr;rpfs; 4 

 tpspk;Gfs; 6 

gapw;rp 3 

1.  xOq;fhd ehd;Kfp xd;wpd; xU Kfj;jpd; tbtk;: ahJ? 
2. cUtpy; fhl;lg;gl;Ls;s tiyAUitf; nfhz;L mikf;ff;$ba ehd;Kfpapd; tpspk;gpd; 

ePsk; ahJ? 

 

 

                        

 

 

 

3. xU tpspk;gpd; ePsk; 4cm Mf mikAk; tpjj;jpy; ehd;Kfpapd;  tiyAU xd;iw 

tiuf?   
4. xNu msthd ,U xOq;fhd ehd;Kfpfspd; ,U Kfq;fis xl;b $l;Lj; jpz;kk; 

xd;W mikf;fg;gl;lJ. mj;jpz;kj;jpd;  

i. Kfq;fspd; vz;zpf;if ahJ? 

ii. tpspk;Gfspd; vz;zpf;if ahJ? 

iii. cr;rpfspd; vz;zpf;if ahJ?   

Nkyjpf gapw;rp (ghlg;Gj;jfk; 89, 91 gf;fk;) 

                                                                                                           

 

 

 

12cm 


